
1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm -

m S / cm - 0.15 0.084 m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm - - -

m S / cm - 0.15 0.084 m S / cm - - -

m S / cm - 0.14 0.090 m S / cm - - -

m S / cm - - - m S / cm - - -

m S / cm - - - m S / cm - - -

m S / cm - - - m S / cm - - -

- - m g/L 0.002
m g/L - 0.7 m g/L 0.004
m g/L - 1.4 1.1 m g/L 0.1
m g/L - m g/L 0.04

- m g/L 1
m g/L m g/L 0.006
m g/L 0.0005 m g/L 0.002
m g/L 0.01 m g/L 0.006
m g/L 0.01 m g/L 0.003
m g/L 0.05 m g/L 0.02
m g/L 0.01 m g/L 0.01
m g/L m g/L 0.01
m g/L m g/L 0.05
m g/L 0.03 m g/L 0.002
m g/L 0.01
m g/L 0.02

(        -        )

(        -        )

(        -        )

(        -        )

(        -        )

(        -        )

(        -        )

(        -        )

(        -        )

(        -        )

(        -        ) (        -        )

(        -        ) (        -        )

pg/T E Q /L 0.027 0.0221



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm -

m S / cm - 0.15 0.084 m S / cm -

m S / cm - 0.14 0.090 m S / cm -

m S / cm - 0.12 0.091 m S / cm -

m S / cm - m S / cm -

m S / cm - m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm -

m S / cm - 0.15 0.084 m S / cm -

m S / cm - 0.14 0.090 m S / cm -

m S / cm - 0.12 0.091 m S / cm -

m S / cm - 0.060 0.077 m S / cm -

m S / cm - m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm -

m S / cm - 0.15 0.084 m S / cm -

m S / cm - 0.14 0.090 m S / cm -

m S / cm - 0.12 0.091 m S / cm -

m S / cm - 0.060 0.077 m S / cm -

m S / cm - 0.13 0.096 m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm - 0.090 0.088

m S / cm - 0.15 0.084 m S / cm -

m S / cm - 0.14 0.090 m S / cm -

m S / cm - 0.12 0.091 m S / cm -

m S / cm - 0.060 0.077 m S / cm -

m S / cm - 0.13 0.096 m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm - 0.090 0.088

m S / cm - 0.15 0.084 m S / cm - 0.11 0.090

m S / cm - 0.14 0.090 m S / cm -

m S / cm - 0.12 0.091 m S / cm -

m S / cm - 0.060 0.077 m S / cm -

m S / cm - 0.13 0.096 m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm - 0.090 0.088

m S / cm - 0.15 0.084 m S / cm - 0.11 0.090

m S / cm - 0.14 0.090 m S / cm - 0.12 0.10

m S / cm - 0.12 0.091 m S / cm -

m S / cm - 0.060 0.077 m S / cm -

m S / cm - 0.13 0.096 m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm - 0.090 0.088

m S / cm - 0.15 0.084 m S / cm - 0.11 0.090

m S / cm - 0.14 0.090 m S / cm - 0.12 0.10

m S / cm - 0.12 0.091 m S / cm - 0.17 0.094

m S / cm - 0.060 0.077 m S / cm -

m S / cm - 0.13 0.096 m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm - 0.090 0.088

m S / cm - 0.15 0.084 m S / cm - 0.11 0.090

m S / cm - 0.14 0.090 m S / cm - 0.12 0.10

m S / cm - 0.12 0.091 m S / cm - 0.17 0.094

m S / cm - 0.060 0.077 m S / cm - 0.16 0.10

m S / cm - 0.13 0.096 m S / cm -



1,800
2,340
1,800
2,340

m S / cm - 0.16 0.087 m S / cm - 0.090 0.088

m S / cm - 0.15 0.084 m S / cm - 0.11 0.090

m S / cm - 0.14 0.090 m S / cm - 0.12 0.10

m S / cm - 0.12 0.091 m S / cm - 0.17 0.094

m S / cm - 0.060 0.077 m S / cm - 0.16 0.10

m S / cm - 0.13 0.096 m S / cm - 0.095 0.076


